DRAWING MADE IN THIRD ANGLE PROJECTION 3 “@ 2 “
THIS DRAWING 1S UNPUBLISHED. | RELEASED FOR PUBLICATION .19 . | Loe RISt REVISIONS
© copvaiaHT 15 v AMP INCORPORATED. ALL INTEFNATIONAL RIGHTS RESERVED. | GP [ 00 |5 | ¢ | zone [ e DESCRIPTION DATE | APPD
E | REV PER OUID-0274-00 nsosat | JR
THREAD
D SEE TABLE D
LATCHING BLOCK i
/@TY: 2 -
MATL: ZINC ALLOY }
—] 1. PARTS PACKAGED UNASSEMBLED. }
A PARTS PACKAGED AS A UNIT KIT. L
A A PACKAGED 50 UNIT KITS PER PACKAGE.
A OBSOLETE PART NUMBER.
- .050
‘ 1S “
T I
T .0B0O REF
Il ! Il r
Il ‘ T
1l [
Il 1
) I ”I:{]” T L]
THREAD THREAD IDENTIFICATION -
SEE TABLE LOCATED IN THIS AREA L
gﬁy H2EAD SCREW A M3X0.5| .236 . 200 . 400 |1 THRU 4| /4\ 745007-7
B I : - - B
+ 000 | | MATL: COLD ROLLED STEEL = #4740 | 188 265 530 S = 345007 e
CT om0 | 1 PER ASTM A103 5 #4-40 | .188 .200 .400 |1 THRU 4 745007-5
! ‘ FINISH: ZINC PLATED PER ASTM 2 M3X0.5 177 . 265 . 530 5 2\ 745007 -4
Be33, TYPE III, CLASS ) M3X0.5 177 . 200 . 400 |1 THRU 4| /4\ 745007-3
SCT, CLEAR CHROMATE A M3X0.5| .236 | .265 | .530 5 N 7450072
| .071 MAX L ) M3X0.5 . 236 . 200 . 400 |1 THRU 4 745007 -1 |
. 236 MAX PACKAG ING THREAD C B A s1ze BART NO
Bﬁng; EEQEEFTE[&NT - g’s?;i:RD AMQ AMP INCORPORATED
%TEE%SQ; IN INCHES CHK ZiELSSN Harrisburg, Pa. 17105
2R BEE T Tono APPD 5-23-88 NAME
ANGLES + - V_KUMAR
ATERTAC APPD5-20-88 KIT, LATCHING BLOCK, RS 449 gPE,
A SEE CALLOUTS Ve WITH SCREWS, AMPLIMITE A
B SIZE FSCM NO DRAWING NO
FiNTsH APFLICATION SPEC
SEE CALLOUTS _ 00779 745007
TETCAT SRE 4,7 SREET T oF 1
AMP 1470-15 REV 3-87 m
31-JAN-96  14:09:24 emp40973  /home/ssrv026d/dsk01/dept4023/amp40973/ednmod CUSTO MER DRAW I NG

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

